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Fitted Curve: tau=1050.77%0.18,
A=209.62+0.020, B=41.09+0.021
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Fitted Curve: tau=1078.20+0.24,

A=189.40+0.023, B=40.89+0.024
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. Fitted Curve: tau=1049.69+0.22,
A=166.12+0.019, B=29.82+0.020
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=== Data
Fitted Curve: tau=1108.23+0.20,

A=186.49+0.018, B=22.63+0.019
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= Data

Fitted Curve: tau=1078.87+0.25,
A=187.71%£0.024, B=31.77x0.025
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== Data
Fitted Curve: tau=1092.61+0.23,

A=179.52+0.021, B=22.76+0.022
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== Data

Fitted Curve: tau=1068.31+0.19,
A=122.50+0.012, B=28.55+0.012
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== Data
Fitted Curve: tau=1035.84+0.22,

A=161.77+0.019, B=17.50+0.020
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